[FFEEERE]

(B

TH]

(ZZEEDHERIKR) XER30E5 A1 BRE (& T &EDAERRIKRT) XFH304£58 1 BHE
...................... o ... S
5 £ E Ei z B
EEE 308 591 899 ETHE 27 26 53
N = N N 228; . 450 678 wEE o i..10f 9 .19
1 EE 225 435 660 1 EE 7 8 15
2 NEE(KBR#EE) 1 3 4 2 NEE(KRHEE) 1 1 2
B BB 2 12 . 14] BRI N 20 Y 2
b e 25 23 48 Py = oty 2 4 6
1 KERRESE 16 17 33 1 KERHESF 2 4 6
2 KEpfEx 1 1 2 2 KRt 0 0 0
3 EMERK 3 2 5 3 EFER 0 0 0
4 BB 5 3 8 4 B 0 0 0
5 ZNhnHEF 0 0 0 5 ZDHDAEF 0 0 0
LEE LS 55 118 173 L LS 15 13 28
11 7 2 13 . 29 421 | L 1:0 72 A L 51— 3
2 ZFhih 42 89 131 2 Fhih 15 10 25
A EE L E 88% 87% 87% i A TR 56% 75% 63%
EEEREE 74% 76% 75% EEEMBE 37% 35% 36%
(EEEDFFRFABKR) - (EEENFERFABIKR) -
\ ik %HB N I
EExENE ] & z EXENTE ] = e

BEX MKE 0 0 0 BE MKE 0 0 0
X 0 0 0 e 0 0 0
fhg. EAE. BRERE 0 0 0 e FEELE T IEEIE S 0 0 0
BEEE 4 3 7 BEEE 0 0 0
s 9 26 35 aEZE 1 0 1
BR-HR A KEE 0 0 0 BR-H R KEE 0 0 0
BHREEE 62 103 165 EHREEE 0 2 2
B, BEE 2 6 8 B BE X 0 0 0
ENFE - /NFEE 19 55 74 ENFE-/NTEE 1 3 4
ERE-RIEE 2 7 9 TRE-RIZE 0 0 0
THEX-YRES 2 12 14 THEX-YmnE! 0 0 0
FMBRENT- B —ERK L EL R 45 .. 76 FMHARGIT- B —ERK Y LS S 1]
BHE. RBY—ERE 5 13 18 BRE. RBY—ERE 0 0 0
EEREY—E R, e 18 29 47 EEEEY—ERE, e 0 0 0
BE-FEXER i HI 230 . 28 BE-FEXEX 2 0f .. 2|
E& -t 0 10 10 E& 1Bl 0 0 0
EEY—EREE 5 14 19 HEHEY—EREE 0 0 0
=0 S 10f . 26 ... 36 R 20 . LS S 3
Nig 1 4 5 N 1 1 2
EEELSt 53 74 127 EELS 3 1 4
B 228 450 678 B 10 9 19




